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+RWHO� PHUXSDNDQ� VDODK� VDWX� EHQWXN� DNRPRGDVL� \DQJ� GLNHOROD� VHFDUD�

NRPHUVLDO� \DQJ� GLVHGLDNDQ� EDJL� VHWLDS� RUDQJ� XQWXN� PHPSHUROHK� SHOD\DQDQ��

SHQJLQDSDQ�EHULNXW�PDNDQDQ�GDQ�PLQXPDQ��.RWD�&LUHERQ�PDVXN�GDODP����EHVDU�

'HVWLQDVL� :LVDWD� GL� 3URYLQVL� -DZD� %DUDW�� .DUHQD� GL� 3URYLQVL� -DZD� %DUDW� \DQJ�

KDQ\D� PHPSXQ\DL� 'HVWLQDVL� :LVDWD� 6HMDUDK� VHSHUWL� .HUDWRQ� KDQ\D� WHUGDSDW� GL�

.RWD� &LUHERQ�� 6HEDJDL� VDODK� VDWX� SXVDW� EXGD\D� \DQJ� PHQJKDVLONDQ� GHVWLQDVL�

ZLVDWD�GDQ�SHQLQJJDODQ�VHMDUDK��+DO�WHUVHEXW�PHQMDGLNDQ�&LUHERQ�PDVLK�EHUMDODQ�

FXNXS�UDPDL�GLNXQMXQJL�ROHK�ZLVDWDZDQ�

$NDQ� WHWDSL�� EXGD\D� GDQ� ORNDOLWDV� EDQJXQDQ� .RWD� &LUHERQ� VHPDNLQ� ODPD�

NLDQ�PHQJKLODQJ��+DO� LQL�GDSDW�EHUGDPSDN�EXUXN�EDJL�QLODL� ORNDOLWDV�GDQ�EXGD\D�

GDHUDK�� 'HQJDQ� GHPLNLDQ�� VHEDJDL� VDODK� VDWX� EHQWXN� ZXMXG� GDUL� SHOHVWDULDQ�

EXGD\D�\DQJ�GLKDUDSNDQ�GDSDW�EHUQRVWDOJLD�GDQ�PHOHVWDULNDQ�EXGD\D�&LUHERQ�EDJL�

SDUD�ZLVDWDZDQ�GDSDW�PHQJHQDO�GDQ�PHQJHWDKXL�VHMDUDK�EXGD\D�

6DDW� LQL� SHPEDQJXQDQ� KRWHO� ELQWDQJ� �� GL�.RWD�&LUHERQ� KDQ\D�PHPLOLNL� ��

KRWHO�\DLWX�7KH�/X[WRQ��6ZLVV�%HOKRWHO�GDQ�$VWRQ��'DUL���KRWHO� WHUVHEXW�EDQ\DN�

\DQJ� WLGDN�PHPEDZD� EXGD\D� GDQ� NDUDNWHU� .RWD� &LUHERQ�� 2OHK� NDUHQD� LWX�� FLW\�

KRWHO� KDGLU� XQWXN� PHPEHULNDQ� DOWHUQDWLI� SDGD� SDUD� ZLVDWDZDQ� XQWXN� GDWDQJ�

GHQJDQ� WXMXDQ� XQWXN� PHQJLQDS�� NDUHQD� NDZDVDQ� LQL� VDQJDW� VWDUWHJLV� XQWXN�

SHUDQFDQJDQ� FLW\� KRWHO� \DQJ� GDSDW� PHPEHULNDQ� SHOD\DQDQ� GDQ� IDVLOLWDV�

SHQJLQDSDQ� \DQJ� GDSDW�PHPEHUL� NHVDQ� EXGD\D� GDQ� NDUDNWHU�.RWD�&LUHERQ� EDJL�

ZLVDWDZDQ�\DQJ�GDWDQJ�
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